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Practice: Final corrections due;

Function Operations & Composition

Perform the indicated operation and simplify completely. Show all work to get credit.

Flx) =10x g(x) = —-5x h(x) =8 Jj(x) =—10
1] (F+)Dx)= 2] F-g)x)=
3] (g-R)x) = 4] (.f.) (x) =
51 (h—g)(5) = 6] (f (-1 =

f(x)=6x+4 gx)=4—6x h(x) = 2x jlx) = -2
N f+9)x) = 8] (f —g)x) =
9 (f- N = 101(%) () =
Ma-93) = 21¢- g (1) =

f(x) = x? glxy=10x+5 h(x) =x j(x) =5

1B](f + g)(x) = 14 - =
ES](f - M x) = 16] (%) (x) =

17} + (49 = BI(f m® =




